
1.

2.

3.

4.

(A) 16
(C) 13
(E) 34fA HA

(A) C

'A', 'B', 'C, 'D', 'E' yd'F' ycA qcaR Aà

()A
(E) 3qRA IA

(A) 24
(B) 26
(C) 20
(D)22

(A)

(B) 17
(D) 15

(C) -OH

(E) gtfkd TA

(B) D

(D) B

(B)
C-0H

H

[D]

(D) -c=0

[AJ

[AJ

(D]

5.

6.

7.

8.

9.

CH,

(A)-
(C) 2-frget«ue
(E) 47fA VH

CH;CH,OH

(A) Jerah

Alkaline KMnO4 + Hcat

(E)344aR HA

arffehurŽ?

(B)3-frgetee
(D)1-ffgayeT

(A) GIAIE

(C) yrdt
(E) 3aRd HA

(E)4gaRa VA

CH,C00H

(B)Aferu HfcH

(A)CuSO4 fary stt ait (RR) I
(B) NaClfay stt AIa (h4e) rGI
(C) FeS4 fdeyt sr ara (oz) rg
(D)AgNO3 faiy sR arg (iiR) eng

(E)3aRA IA

(D) icRftru 5fc

(B) HTÌ
(D) s

[C]

[D]

[D]

[D]

[B]
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10.

13.

(A) AR

15.

(C) q
(E) Hafra IA

11. fy Tg faa À, qf PQ||RS, ZQPE=128° yd
LPER=148°, t SRM aRIaR:

16.

EO148°

(A) 96°
(C) 88°
(E) Agafka UA

(A) 7 af geolÉ
(C) 3 quf gch1

12. eT 2x - 3y + 6 = 0 RI SR AZATGH TT

(E) 3rqufka TA

(A) 5 f
(C) 9 fa
(E) 3qafka 9A

(B) GTYYR

(D)

(E) gfkd UA

Q

A RB fft ai at ghRT: 45 fi sir 40 fi

(A) hteH yAART
(C) FISS ziAT
(E)gafk 9A

(B) 98°
(D) 92°

stq as t (m+14) fai , at m

furt I

(A) AH 2 quf, 3rfchcH 19 quf

(B) 14 2 quf, fechd
(C)

(A) F2

(B) 10 quf scal
(D) 4 afh

HdH1quf, fechaH 21 quf

(D)HGH 1quf, fachd

(C) Shift + F10
(E) 4gafk HA

(B) 17 fT
(D) 23 f-H

[D]

(B) te yfgr
(D) he

[AJ

(B)Ctrl +0(Zero)
(D) Alt + H

[C]

[C]

[D]

[C]

[B]

22.

23.

(E)4gfka 9A

(A)aIHHH

(C) yr
(E) gafk IA

(C) ft.t. R44

(E) gaRa

(A)yffa 34i
(C) fAfG 34e
(E) 4quR HT

afog:

(E) 4jaka IA

(A)faeifAHt
(C) faeifaY
(E) 3gdRa VA

(A) AB

(C) A
(E) 3gfkA 9N

(D) RTft

(B) AIsf
(D) T42q fAT

(B) fah 34
(D) fefG 3

(B) fdefas
(D) faerfA t

(B)O

(D) B

(B]

[AJ

[D]

[C]

[AJ

[D]

[AJ
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24. 24 t-I atyt -II À gAfet Afy:
qet-I (rts ra)

26.

28.

25. ffafaa ya aaâ yh Hart fatyaT
(A) fari GO6dI (B)auriÀ jyicHhdll

(D) faR 44LT

29.

30.

(A) a-IV, b-II, c-III, d- I (B) a-III, b-l, c-II, d-IV
(C) a-I, b-II, c-IV, d-III (D) a-IV, b-I, c-III, d-II

(C)faR
(E) 44dRA VA

(A) ftsT

27. "apTÉUr TAH

(C) reff

(A) GE

() agetfe
(E) 4gtft

(A) T

(C) R
(E) gaRd HA

(A) T
(C) HIS

hHddI

(E) 3gdRa YA

(A) 2007
(C) 2003
(E) rqtfra IA

qet-II (s TE)

(A) ral¢
(C) hter
(E) 3gafka HA

- III, qul

(E) HfRT 9N

(B) AG
(D) AT

(B) JeqA
(D) Tya

(B) T
(D) uR

(B)3$
(D) $

(B) 2010
(D) 2006

(B) GhaIs

(D) greR

(B) H1effu ar fagd ÝÜA

[D]

[C]

[C]

[D]

[D]

[C]

[C]

[DJ

[D]

(A) ter

38.

(C)

(E) 44tRa uA

(A) TOR
(C) frgs
(E) aRA UA

(A)IGqf
(C) agaÉr
(E) 3gaRA YA

35. Afefaa HHa faa Tàqo 326

3, 10, 20, 39, 85, ?

(A)99

(C) 212
(E) 34qufka IA

324: 289:: 256
(A) 225
(C) 125
(E)4gaRA VA

(E) 3qtRA IA
39. HR

(A) 3r9T TRT

(C) KISH
(E) 34qtfRd yA

(A) STG

(A) oitgfater AtaISE ARA
(B) f3t fâd g3-afrher
(C) ARGs hfT

(B) IsRTH
(C) 3T44

(B)43HG|SIG A

(D) ftchet

(B) HT5
(D) qrtR

(D) qfgH |eT
(E) 341fd VA

(B) GIyqf
(D) qRaf

(B) 101

(D)112

(B) 361
(D) 200

[BJ

[AJ

(B) hfca5
(D) sA

[D]

t 18 ÀcI 2024 t aeft

[C]

[A]

[A]

[D]

[B]
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41. Hrf 2024 , ft. ft. ya. à egH q< R

43.

fh AyaT feh4T

47.

(A) fay gHR
() qld HETA
(E) 4grtfkd nA

42. (fa) t HRÍ 1000 fe tu tat

48.

(E) gdka YA

(A)3TESTIA + 4
() H+ ST<A

(E) 3gfa 9A

(A) q+ 3fa
(C) A+sfT

45. 'Afrf
(E) 34qafkd yA

(A) GG

(C) 3feiA
(E)4qaft HN

(B) TT |HT

(C) siu (7)
(D) HS 4A

(E) 4atRT IA

(A)BS sft

ATA

(E) 3gaRA HA

(A) Fs
(C) qS
(E) 9gfkA IA

(A)

(C)ga
(E) gafka HA

?

(B) YGT HR E

(B) 43 ART BTHR I

(E) gaRa IA

(B) HITR FRYT
(D)Af fart

(B) T + S144
(D) 35T + A

(B) YÆT +$
(D) +f

(B) fRY
(D) acyq

(B) GTft
(D) fce-TY

(B) Gt
(D) frerft

(B) q3t

50. Afefaa gIG fefa arat

(D) Aa

[D]

[AJ

[B]

[AJ

[AJ

[D]

[C]

[B]

[AJ

[AJ

(E) 3qfa YA

a. itqu

56.

e. ycg-f

(A)hat c otR d
(C) hdm a oir e
(E) HgafRa yA

(A) siaatuaT
(C) -f
(E)1qafka IN

(A) TRgfeaT

(C) HTRT

(E) 3441Rd 9N

54. uT HfRT fag au, 2027 a art

(C) 4-q RAlT
(E) 347dfRa HA

(A) 70°
(B) 75°
(C) 55°
(D) 60°

b. afd

B

d. TfachRch

55. fefaa or Ry ieufef A

t LDMR T H1H (3ieT ) T ?

(E) Hgaftd uA

(B) haib, c ir d

(D)hdb sir c

M

(B) 4TETgia

(D) 4YIH

(B) <fu 3hC6T
(D) arsft

(B) d-g afuI
(D) TGFHR

[C]

[C]

[B]

[D]

[C]

check
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57. yf cosec + cot = m, at"T HH NA

58.

59.

60.

62.

64.

(A) cosec 0

() sin 9

(E) qka yA

(A) 22.88
(C) 16

uft V80 +6V5= 22.35 at 3/5 + V125 a1

(E) 3gafRA TA

The meter reader

(A) was mistaken
burglar by the landlady.

(C) mistook

Choose the most appropriate passive
form of the word 'Mistake' to complete
the sentence:

fill in the blanks:

(E) Question not attempted

(C) a, a

He looked at me with

(B) tan
(D) cos 0

(A) I
(C) ht

when I explained that I was
double agent. (x= blank)
(A)the, the

(E) 4gakd VA

(B) 25.88
(D)17.88

Choose the most appropriate option to

(A) 3rgd

(C) qT

(E)Question not attempted

(E) HgafRA HA

m2+1

(A) 3-1Y
(C) HHA Rt
(E)4qafka UA

(B) has mistaken
(D) was mistook

(C) sft hcRIs A

(E) gafk IA

(B) the, X

(D) x, a

(B) YTT
(D) HT

[D]

(B) hÍR
(D) IFH

(D]

(B) |T 4RHT

(D) ye- Ttu

for a

[D]

horror

[C]

[B]

(B]

[B]

[AJ

66.

67.

(A) tarar
(C) Hdt
(E) 44fa HN

(A) TTT (4I)
(C) utar (da)
(E) gafka HA

(A)

(C)

#|

(K)

X

X

(B) HTRGIt

(D) arst

(Q. No. 68 to 72)

(B) Tat ai/A1
(D) tsft (r-f)

(B)

(D)

[B]

[C]

[A]

Read the passage carefully and answer
questions that follow by choosing the
correct option:

While working in the establishments of
Space Defense Research and Atomic Energy,
Dr. Kalam found that the best human
beings and the most innovative minds were
present here, in plenty. One common

feature 'was also found in all the scientists
and technologists: they were not afraid of
failures during their pursuits because
failures contained within themselves the
seeds for further learning, which could lead
to better technology and eventually to high
level of success. These people were great
dreamers and their dreams finally

culminated in spectacular achievements.
Taking account of the combined
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technological strength of allthese scientific

institutions, it would certainly be
comparable to the best found in the
developed world.
Regardingpersonal freedom, Kalam is said

to have adopted two techniques to
strengthen it. First, by building one's own

education and skills - knowledge is the most
precious tool: the more up-to-date
knowledge one possesses, the freer one is.

A leader can only be free to leadhis team, if

he keeps abreast of all that is happening
around him. To lead is in a way, to engage
in continuing education. The second way, is

to develop a passion for personal
responsibility, by way of taking on

responsibility to work for the things you

believe in. If you do not, you would be
surrendering your fate to others. Historian
Edith Hamilton wrote of ancient Greece,
"When the freedom they wished for most
was freedom from responsibility, then
Athens ceased to be free andwas never free
again. The truth is that there is a great deal
that most of us can do to increase our

freedom. We can combat the forces that
threaten to oppress us. We can fortify
ourselves with the qualities and conditions
that promote individual freedom."

Dr. Kalam is neither an orthodox nor a

conservative religionist. He has a scientific
temper blended with spirituality. Drawing
an analogy between science and spirituality
he says, "While science has a habit of
questioning, spirituality is based on known

principles; both of them lead one to seek
truth." He is an individual filled with
humanism and loved and renowned by the
entire nation, without any barriers of age
and community. "India must stand up to the
world because I believe that unless India
stands up to the world, no one will respect

Only strength respects strength." Sosaid
Dr. Abdul Kalam, the nuclear scientist who
developed and structured India's missile
arsenal. He belongs to the world of nuclear
weaponisation and has supported the
nuclearisation of India consistently.

68. Accordingto Dr. Kalam, the element that
was common beween the scientists and
technologists was:
(A) They were not afraid of failure
(B)They were great dreamers
(C)They were best in the world
(D) They had spectacular achievements
(E)Question not attempted [AJ
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69. According to Dr. Kalam, personal
freedom can be achieved only when

70.

a. Youempower yourself with knowledge
b.You free yourself from all responsibility

C. You develop a passion for personal
responsibility.

72.

d. You develop courage to be responsible
for the work you believe in

Choose the most appropriate answer
from the options given below:
(A)b, d and aonly
(C) a, b and e only
(E) Question not attempted
Dr. Kalam supported nuclearisaion of
India as he strongly believed that:
(A) Knowledge is the most precious tool
(B) There is a great deal that most of us can

do to increase our freedom

one willrespect us

(C) We can combat the forces that threaten
to oppress us
(D) Unless India stands up to the world, no

(E) Question not attempted

(B) a, cand d only
(D) b, c and d only

71. Dr. Kalam draws an analogy between
science and spirituality according to
which

d. Both are habits

a. Science is based on questioning
whereas spirituality is based
established principles

(A)c and d only

b. Both are arrived at by not questioning
c. Both lead one to seek truth

from the options given below:

(B) aandc only
(C) a andb only

Choose the most appropriate answer

(D) b andc only
(E) Question not attempted

List-I
Match List-I with List-II

b. Arsenal
c. Innovative

(B]

a. Conservative I. Using new ideas

d. Fortify

List-II

II. To feel stronger

[D]

III. A collection of
weapons
IV. Opposed to sudden
social change

on

[B]

73.

74.

77.

78.

Choose the most appropriate answer
from the options given below:
(A) a-II, b-IV, c-III, d-I (B) a-I, b-IV, c-II, d-III
(C) a-III, b-II, c-I, d-IV (D) a-IV, b-III, C-I, d-II
(E) Question not attempted [D]

Choose the word closest in meaning to
the underlined word from the given
options:
During the course of the interview, she
refused to answer the question that
infringed on her personal life.
(A) irlfused
(C) ingrained
(E)Question not attempted [B]

Choose the most appropriate word
similar in meaning to NONCHALANT
(A) insurrection (B) intimidating

(D) insubstantial(C) indifferent
(E) Question not attempted

(A) Gr4y
() vtuge
(E) 4gifrA IA

(B) Invaded
(D) ingested

I need to buy

got
(A) all, little

(B) heT

(C) some, any

(D) 3<4y

(A)TRIIyfA
(C) JhHUfty
(E) rgfk HA [D]

Choose the most appropriate option to
fill in the blank:

(B) faRTy
(D)ad: Jt

money to pay for them.
eggs but I haven't

(B) few, a little

[C]

(D)any, some

[C]

(E) Question not attempted [C]

Choose the most appropriate statement
from the following:
(A)A D.O letter is written by an authority to
the employees of that organization.
(B) Yours respectfully' is the appropriate
subscription for an informal letter.
(C) The format of the date in an official letter
is 01/04/24.

(E) Question not attempted

(D) A notice is distributed to the selected
people in an organization.

[AJ
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79.

82.

Choose the most appropriate word to
complete the given sentence:
The boy crawled

83.

enter the garden.
(A) under

84.

(C) above
(E) Question not attempted

80. fehft

(A) 2,080
(C) 2,000
(E) Agafta 9A

81. ufz =1, t +y'=?

(A) -1

()o
(E) 3RA HA

log, 72

(A) 2

()0

(A) 14

(E) 3qifka TA

(C) 8

+

(E) 3qdRa VA

(A) GRI
(C) Tf
(E) 34qifki IA

log,72

(D)

1

(A) 4 J-1 st Gtft

4

(B) 2 -T at Guft
(C) 3uRafa àft

(E) 3gtkd uA

(B) near

1,920 ut qe 3f Y AI

(D) out

+

(B) 3,500
(D) 1,900

(B) -xy
(D) 1

og,72

(B)5

(D)1

the fence to

(B) 10

(D)7

(B) arst

[AJ

(D) GTet

[A]

[C]

[D]

[AJ

[AJ

[AJ

87.

88.

90.

farera?
(A)s. HtRT YGT

(B) s. fashH HRIHIS

(C) s. .t.ot 3gol heilH

(D)š. aft sgnfr T

(E) gufk HA

(A) TGUH-1

(C) s4e (INSAT)-1A
(E) 4fkd uA

Aaae få) 25 ft ft Gtyea qE afa

(B) yfzrfeH yT BIfdEhdll

(E) 34gRA IA

(A)hteT

(B)GNge
(C) RAy
(D)Tg
(E) 314dRa yA

(B) 3T$ 3AR YH IRS)-1A
(D) 3rÁYg

(B) eIsa fe yigyels al fAHfur

(D) FYchT ot ych ch-ftc
(E) gtfR AA

fay

[B]

(D)ehiifacs fadheRUj qETA fe
(E) 44RA IA

[D]

[D]

[C]

[B]

[D]
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92.

93.

(A)VI

98.

() IV
(E) gafkd IA

(A) 44a Rr
(C) 41a deNyA

(A)34eE aia
(C) 3H16$

(E) gtfkd HA

(HTTAI) str "Secular" (ffArde) fahe

(A) 3T-gT HRT

(C) ofseT
(E) Hgafi TA

96. fafta
(6 feasaR 2024 ht)
(A)I- HHI< T
(C) fsYaI
(E)gafta UA

(E) 34gdRA IA

(B) IV-A

b. sft qata HHIE

(D) V

c. s. Gyrfic
d. s. yH. dam

(B) 46a Rtg
(D)42a ÄRtea

(B) fb ct
(D) 34T44refi

(B) afMG
(D) IA

IRA

F44 - (II) : fRg (fs GIIAT)

qRyç o MLA, MP RI Â SITI

H

(B) yz ftuT
(D) z T4f

[C]

[D]

[A]

[AJ

[AJ

[C]

99.

(A) c, b, d, a

()a, b, G, d

(E) 4aRA IA

(A) guft
(C) H-t
(E) 7aR HT

(A) 3R
() vierge
(E) 34qafkd yA

a. HitrT
b. teto
C. HlMfta
d. ustfUT

(A)a-ii, b-i, c-iv, d-ii

(C) a-i, b-ii, c-ii, d-iv
(E) 3gRa HA

2021

2023

2020

2022
(E) 34ufka IA

Hft 2024 BÉ ef?
(A)gas, T y..
(B) Fft fft, HRA

(C) e, q, +.
(D) yras, HRA

(E) 3gufd wA

(A) 3fsfa

(B) C, a, b, d

(D) b, c, a, d

(C) quf
(E) 3tfd VA

(B) /YlT
(D) qEAHt

(B) eT
(D) 3<4y

i. faaetfrT

iv. 4I

[B]

(B) 3ThfMGG

[D]

(B) a-iv, b-ii, c-ii, d-i

(D)a-ii, b-iv, c-i, d-iii

(D) afryrA

[AJ

104. 'Compensatory' ft Àt feh 3ref

[A]

[AJ

[A]

[D]
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a. Art
c. srtqet
e. hg

(A) ham b, d sr e
(C) chdta, b ir d

(A)3T AII

(D) af yRH HAI
107. ye afa frHG e

(B) heO
(D) hd BTO

(A) fRSI
(C) ¿aR
(E) 4qafa 4N

109. UTSoefT rST
(A)RTchT 5

(A) hdiA 4T B 4T AB 4T O

(E) 34qfRa 9A

(A)3FRIAeft ta

(E) 34gtfa 9A

(C)fRHTT tya
(E) 3qufki VA

(E) 3gdfRa uA

IT ?

b. t-rit

a

(E) 3qafk AA

d. ufes

(B) ht a, b sre
(D) haet cG, d str e

(B) GhT yche heT

(E) 3qdfk gA
B ufreft , fah sfer

(C) hddA TO
(E) 4gaRa yA

(B) HIT
(D)

(B) HtáH 51
(D) faerHC T

(B) <fur yaf ta

(D) JRydi rt

[AJ

(B) H8RTUT hE B

[C]

(D) fReR q

[C]

[DI

[B]

113. 1903. fasiteyr fehr- e jat hR fhet

[D]

[C]

[C]

[C]

(C) fegtal-H HIH fafMs

(E) 34tfd VA

(A) GYy
(C) TE4Y
(E) 3tfd VI

(A) drasrtk

() RtsiG
(E) 4gtfka yA

118. 44

(A) s. t. TR, 3T¢Se
(B) 4II ouRAIf HuR
(C) ši.. y4. yaft
(E) 34gRA TA

(E) 347fT HA

(A)sT I

(E) HgfrA yA

(B) HÍzfas str rafos fac5R
() etqur faog sfasR
(D) Tuft AT 3fercaR

(A) 27
(C) 23

(B) HIS- HT
(D) fteralSI

(E) 7dfRa VA

(B) sfri-R
(D) Get

[AJ

tya fef4, 1978 ART Afafda

(A)4,900
(C) ? 4,400
(E) 3qdfRa 9A

(D) y tyrelkqrft ujr

(B) gfR a sÌeft

90, 94, 52, 68, 80, 94, 52, 65, 87, 90, 70, 52

[D]

(B) 29
(D) 25

[C]

[A]

(B) 5,000
(D)4,460

[D]

T 6,690 qd 6 qi ugTa 10,035 Ì Tt,

[AJ

[C]

[DI
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(A) 7,920
(C) 7,000
(E) 3dRT YY

123. qufar
(A) Y-gur

(C) afau
(D) X-1ur

(B) HI3ctafus s.y.q (DNA)

(E) 3rqtfka NN

(i) 2S0,+02
124. Afafa fasst -

(ii) Nz+3H,

(iv) Hz+I,
(iii) Nz+0, 2NO

(A)(i) aT (ii)

(C) (i) aT (ii)

250,
2NH,

2HI

(B) (), (iü) aT (ii)

(D) (i) FT (iv)
(E) gufta NA

(B)

(D) 7,200
8,000

(A)It has been easy to find faults
(B) Gandarame youcoisa
(C) It's easy to find faults

125. Choose the most appropriate English
translation of the given sentence.

(D) faulte can't the coally twing
(E) Question not attempted

[AJ

form of the given sentence:

[D]

[B]

126. Choose the most appropriate Deported
[AJ

He said, "Don't walk on snow it isn't safe"
(A) He told us that it is not safe to walk on

the snow

(E) Question not attempted

(B) He warned them how unsafe it was to
walk on snoW
(C) He warned us not tO walk on snow as it

wasn't safe.
(D) He said to us not welk op snow for it isn't
safe.

[C]

127. Choose the most appropriate form of the
verb to fillin the blank:
The passengers in the waiting room are
restless after the announcement that the
Train late.

(B) is running
(D) was late

(E) Question not attempted
128. Identify

(A) was running
(C) runs

the grammatically most
appropriate sentence from the options:
(A) In a week's time I will be completed my

work.
(B) In a week's time Iwill be complete my

work.
(C) In aweek's time I will complete my work.
(D) In a week's time I will have completed
my work.
(E) Question not attempted

complete the given sentence:
129. Choose the most appropriate word to

culture in Asia do not conform
His ideas on the link betwee art and

the generally accepted theories.
(A) with (B) to

(D) into(C) within
(E) Question not attempted

(A) Abolishment

(B]

130. Choose the most appropriate English
word for the given word:

(C) Abetment

[D]

substitution of the given sentence:

(B) Apartment
(D) Abatement

(E) Question not attempted [C]

131. Choose the most appropriate one-word

(A) wardrobe
(C) rack

A portable case for holding papers,
drawings, documents etc.

[C]

(A) Comfort

(B) briefcase
(D) portfolio

(E)Question not attempted
132. Chooss the most Appropriate for the

word which is opposite in meaning to the
given word.
Disparage

(B) Applaud
(C) Derogatory (D)Detraction
(E) Question not attempted

[D]

[B]
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(A) EIQUR AH
(C)5fdR UTH
(E) gkA HA

(A) tagyaH t - () Semicolon.
(B) faitrH () - Page Up
(C) hrgte Ê- Tab
(D) H1S h - Caps Lock
(E) gfk VA

(A) Alt + 0
(C) Tab +O

(E) Hqufka IN

(A) 60 m

(C) 30 m
(E) 3gRA HA

(A) 79%
(C) 50%
(E) 3qaßd IN

(B) yRGH
(D) Ídyr q

(A) 3:1
(C) 1:3
(E)4qtka 1A

(B) Shift +0
(D) Ctrl +O

(B) 70 m

(D)40 m

139. HIE HNO: 3R I HC1 ot ShHRT:

(B) 64%
(D) 68%

(B) 3:2
(D) 2:3

[B)

[C]

[D]

[C]

[D]

[C]

(A) 15°
(C) 45°
(E)HgRA VN

(A) HGRHt

Normal

(C) HT
(E) gafka VA

(A) Ri HT
() u

(B) F2R fRHIgY

(A) HIShÍ4E yaH

(E) gtfta IN
143. hy-sT faR fRATGY Afafaa

(E) 3gdRT YA

(A)HIGH

(C) ftce

(D) SUad fRATGY fRATGY

(E) 34q1fRG HT

(E) 3gaka VA

(A) Ctrl + Page Up
(B) Tab + Page Up

(B) 85°
(D) 65°

(B) RGyiT

(D) Alt + Page Up

(D)Ru

(E) 4gtfa uA

(B) VTYETy yoR
(D) ay t

(C) Ctrl + Shift + Page Up

[AJ

[AJ

[A]

[C]

(B) HI5chez taRygZ
(D) HISSA4Íz TŠ

[C]

(B) fayT fsut yAe
(D) fMr

[A]

[AJ
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GT ?

(A) 3R
(C) yd
(E) qafkd HA

148. q 15 ht 2018 at TqR T, t 19 391
2019 Ì

- fH Y?
(A) arfAaR

(C) R

(E)afk HA

(B) af&u
(D) vfH

(A) 8
(C) 6
(E) qafRT HA

(B) <fdar
(D)hR

150. faeft fafae sts he made good money' t
1465' feraT GlI 'he must be good' t
'9421' forret sGT'must save
money' t '9876' feraT GlT
save grace' at '2483' frat GldT

[A]

(B) 9

(D) 7

[D]

[C]

Some

"be good
'some'

[D]
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